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Cell Biology & Clenetics

k|Q“p : / Instructions

“uQ¡ v$ip®h¡g  r“ip“uhpmu rhNsp¡ DÑfhlu ‘f Ahíe gMhu.
Fill up strictly the details of  signs on your answer book
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Subject Code No.: 1 2 0 2
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Que 1: 	 “uQ¡“p âñp¡“p„ V|$„L$dp„ DÑf Ap‘p¡. 	 (08) 

	 1) 	 L$p¡jQ¾$“u ìep¿ep Ap‘p¡ 

	 2) 	 fubp¡Tp¡d“y„ L$pe® S>Zphp¡. 

	 3) 	 “pBV²$p¡S>“ b¡BT“p “pd Ap‘p¡. 

	 4) 	 rhL©$rs A¡V$g¡ iy„? 

	 5) 	 luõV$p¡“ âp¡V$u““p âL$pf S>Zphp¡. 	

	 6) 	 Stop codon ¼ep L$ep R>¡? 

	 7) 	 kdrhcpS>“ A“¡ A^}L$fZ“p¡ dy¿e saphs S>Zphp¡ 

	 8) 	 d¡V$pk¡V²$uL$ ¾$p¡dp¡Tp¡d“u ìep¿ep Ap‘p¡. 

Que 2: 	 hZ®hp¡. (L$p¡C‘Z b¡) 	 (14) 

	 1) 	 Np¡ëNuL$pe“u fQ“p A“¡ L$pep£ 

	 2) 	 A^}L$fZ 

	 3) 	 L$p¡jL¡$ÞÖ 
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Que 3: 	 hZ®hp¡. (L$p¡C‘Z b¡ )	 (14) 

	 1)	  “pBV²$p¡S>“ b¡BT“p âL$pf 

	 2) 	 DNA “y„ õhe„S>““ 

	 3) 	 V²$p“¹kap¡d£i“ 

Que 4: 	 hZ®hp¡. (L$p¡C‘Z b¡ ) 	 (14) 

	 1) 	 V²$pÞkq¾$ài“

	 2) 	 g¡L$ Ap¡‘¡fp¡“ 

	 3) 	 f„Nk|rÓe rhL©$rsAp¡ 

English Version

Que1: 	 Answer in short:	 (08) 

	 1) 	 Define cell cycle. 

	 2) 	 Give the function of ribosome. 

	 3) 	 Give the name of Nitrogen base. 

	 4) 	 What is Mutation? 

	 5) 	 Give the types of Histone protein. 

	 6) 	 Which are the stop codons? 

	 7) 	 Give the main difference between mitosis and meiosis. 

	 8) 	 Define metacentric chromosome. 

Que2: 	 Describe: (any two) 	 (14) 

	 1) 	 Structure and function of Golgi body 

	 2) 	 Meiosis 

	 3) 	 Nucleus 
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Que 3: 	Describe: (any two) 	 (14) 

	 1) 	 Types of Nitrogen base 

	 2) 	 DNA Replication 

	 3) 	 Transformation 

Que 4: 	Describe: (any two) 	 (14) 

	 1) 	 Transcription 	

	 2) 	 Lac operon 

	 3) 	 Chromosomal aberrations


